20

1 20Km
2011 5 21 10 00 2011 5 21 10 00
1 (@) 0) b _ c=b-a
0) SV SV -7 SV

30k 170

31 2011/3/23 11:43 2011/5/19 12:22 13570 2011/5/20 13:34 13740 25hours12minutes
30k (6.7 paSv/hour)
31k 400

32 2011/3/23 12:14 2011/5/19 12:38 31490 2011/5/20 13:47 31890 25hours09minutes
31k (15.9 paSv/hour)
33k 210

33 2011/3/23 12:32 2011/5/19 12:48 17880 2011/5/20 14:02 18090 25hours14minutes
33k (8.3 paSv/hour)

a0k 2011/3/23 13:08 2011/4/24 12:03 4486 - 6590 - -

34 %

30k 2011/4/26 1542 2011/5/19 11:10 2014 2011/5/20 12:05 2104 24hours55minutes
(3.6 paSv/hour)
29k 200

79 2011/3/23 14:09 2011/5/19 11:21 15430 2011/5/20 12:15 15630 24hours54minutes
29k (8.0 paSv/hour)
62k 13

1 2011/3/24 15:20 2011/5/19 8:28 1104 2011/5/20 8:28 1117 24hours00minutes
62k (0.5 paSv/hour)
22km 8

76 2011/4/2 11:35 2011/5/19 13:28 473 2011/5/20 11:56 481 22hours28minutes
22km (0.4 paSv/hour)
32km 73

21 2011/74/8 13:18 2011/5/19 9:56 3092 2011/5/20 9:58 3165 24hours02minutes
32km (3.0 paSv/hour)

c/z
c/z
3126 45 24 20km 2011 4 10 22 1-2
3 12 6 4 5 24 1 20km 2011 4 10 22 1-2

(http://www.nsc.go.jp/anzen/shidai/genan2011/genan022/siryol-2.pdf)

34 2
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